
Toutes les Opérations (J)Calculez chaque somme, différence, produit, ou quotient.5 + 7 = 12 - 4 = 1 × 2 = 14 - 7 =14 - 7 = 10 - 4 = 1 + 5 = 11 - 2 =1 × 8 = 7 × 7 = 2 ÷ 1 = 7 × 8 =14 ÷ 2 = 3 + 1 = 18 - 9 = 7 + 7 =54 ÷ 6 = 1 × 3 = 9 + 9 = 3 + 1 =10 ÷ 2 = 36 ÷ 6 = 5 + 3 = 3 - 2 =2 × 2 = 2 ÷ 2 = 8 - 3 = 13 - 6 =8 + 3 = 45 ÷ 9 = 8 × 7 = 1 + 6 =8 - 3 = 21 ÷ 3 = 11 - 5 = 6 - 3 =6 - 3 = 2 × 3 = 3 + 6 = 8 ÷ 8 =27 ÷ 3 = 5 + 9 = 72 ÷ 8 = 8 + 5 =10 - 3 = 11 - 5 = 11 - 3 = 6 ÷ 2 =40 ÷ 8 = 4 + 1 = 8 - 1 = 2 + 7 =2 + 7 = 5 + 1 = 5 - 2 = 7 × 1 =18 ÷ 2 = 7 - 2 = 4 + 3 = 5 + 4 =5 - 4 = 6 × 3 = 2 ÷ 1 = 7 + 7 =18 ÷ 6 = 56 ÷ 7 = 9 × 5 = 6 + 3 =5 + 7 = 9 × 3 = 7 + 9 = 3 × 2 =6 × 9 = 9 × 5 = 6 × 7 = 4 × 5 =5 + 4 = 4 ÷ 4 = 2 ÷ 1 = 3 - 1 =15 ÷ 3 = 24 ÷ 4 = 72 ÷ 9 = 14 - 9 =15 - 6 = 72 ÷ 8 = 6 - 1 = 21 ÷ 3 =17 - 9 = 7 × 8 = 2 × 7 = 63 ÷ 7 =7 - 4 = 2 × 3 = 5 × 1 = 6 + 1 =7 - 4 = 2 + 3 = 1 + 1 = 17 - 9 =Mathslibres.com



Toutes les Opérations (J) RéponsesCalculez chaque somme, différence, produit, ou quotient.5 + 7 = 12 12 - 4 = 8 1 × 2 = 2 14 - 7 = 714 - 7 = 7 10 - 4 = 6 1 + 5 = 6 11 - 2 = 91 × 8 = 8 7 × 7 = 49 2 ÷ 1 = 2 7 × 8 = 5614 ÷ 2 = 7 3 + 1 = 4 18 - 9 = 9 7 + 7 = 1454 ÷ 6 = 9 1 × 3 = 3 9 + 9 = 18 3 + 1 = 410 ÷ 2 = 5 36 ÷ 6 = 6 5 + 3 = 8 3 - 2 = 12 × 2 = 4 2 ÷ 2 = 1 8 - 3 = 5 13 - 6 = 78 + 3 = 11 45 ÷ 9 = 5 8 × 7 = 56 1 + 6 = 78 - 3 = 5 21 ÷ 3 = 7 11 - 5 = 6 6 - 3 = 36 - 3 = 3 2 × 3 = 6 3 + 6 = 9 8 ÷ 8 = 127 ÷ 3 = 9 5 + 9 = 14 72 ÷ 8 = 9 8 + 5 = 1310 - 3 = 7 11 - 5 = 6 11 - 3 = 8 6 ÷ 2 = 340 ÷ 8 = 5 4 + 1 = 5 8 - 1 = 7 2 + 7 = 92 + 7 = 9 5 + 1 = 6 5 - 2 = 3 7 × 1 = 718 ÷ 2 = 9 7 - 2 = 5 4 + 3 = 7 5 + 4 = 95 - 4 = 1 6 × 3 = 18 2 ÷ 1 = 2 7 + 7 = 1418 ÷ 6 = 3 56 ÷ 7 = 8 9 × 5 = 45 6 + 3 = 95 + 7 = 12 9 × 3 = 27 7 + 9 = 16 3 × 2 = 66 × 9 = 54 9 × 5 = 45 6 × 7 = 42 4 × 5 = 205 + 4 = 9 4 ÷ 4 = 1 2 ÷ 1 = 2 3 - 1 = 215 ÷ 3 = 5 24 ÷ 4 = 6 72 ÷ 9 = 8 14 - 9 = 515 - 6 = 9 72 ÷ 8 = 9 6 - 1 = 5 21 ÷ 3 = 717 - 9 = 8 7 × 8 = 56 2 × 7 = 14 63 ÷ 7 = 97 - 4 = 3 2 × 3 = 6 5 × 1 = 5 6 + 1 = 77 - 4 = 3 2 + 3 = 5 1 + 1 = 2 17 - 9 = 8Mathslibres.com


